160

200

250

300

350

350

400

348

55C

2B (+1) | 140 200
2B (+11)| 140 160 200 200 250 300 350 350 200 450 550
2C (h8) 95 110 130 130 180 230 250 250 300 350 45(
oC1 (H8) | 95 110 130 130 180 230 250 250 300 350 450
2D 1146 | 1456 | 19j6 | 24)6 | 28j6 | 38k6 | 42k6 | 48k6 | 55mb | 60m6 | 65m
ZD1 (E6) | 11 14 19 24 28 38 42 43 55 60 65
d MAX10 | MaX10 | MBX20 | M6X20 | MBX20 | M10X25 | M10X25 | M20X30 | M20X30 | M20X30 | M20X:3U | M2UX3U
= 35 3.5 35 35 7 ] 5 5 5 B B 5
E1 4 4 415 | 4.15 5 55 55 B 6 8 8 8
= 70 10 12 12 4 18 18 21 21 21 26 26
G 1695 | 1765 | 207 217 | 2365 | 27756 | 3095 | 3665 | 3665 | 3965 | 3785 | 3785
- 185 185 215 215 240 265 265 282 282 282 328 328
2i 125 125 125 125 125 125 125 125 125 125 125 125
L 168 175 236 246 276 322 354 410 410 440 450 450
M 145 145 196 196 216 242 244 300 300 300 310 310
2N 15 130 165 165 215 265 300 300 350 400 500 500
N1 115 130 165 165 215 265 300 300 350 200 500 500
0 205 205 250 250 305 355 355 370 370 370 . =
P 95 95 5 | 115 | 145 | 1456 8 18 8 8 18 18
P MBX16 | MBX16 | M10X18 | M10X18 |M12X18 | M12X18|M16X21| M16 | M16 |n°8XM16|n"8XM16|n°BXM16
Q TXM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20
X 3 5 6 8 8 10 12 14 16 18 18 20
XA ] 5 B 8 ) 10 12 14 6 18 18 20
Y 4 5 6 7 7 8 8 9 10 K 11 12
Z 125 6 215 27 31 11 15 515 59 54 69 79.5
Z1(+01/0)] 128 | 163 | 218 | 2713 | 313 | 414 | 454 | 5109 | 594 | 644 | 694 | 499




